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15000 2.37 1.84 1.49 204 | 182 | 0.937 200mm? 0.00009
20000 2.57 1.76 1.87 1.90 1.60 1.02 250mm? 0.00007
30000 218 | 158 | 150 325mm? 0.00005
20000 205 1 147 142 (BI1) BOHzOM=, IAELATE 128071 517] nh0] HEEIOtEtA] 1/2) 2t
75000 227 | 146 | 174 BAZ 7510f BS TICH
100000 248 | 149 | 198 (HIT2) Z40| 27}et T 371Ef0] B2 MOl BlofEIAGL KBS FMo| Lol
= 339 1131 | 315 ARZolo] 1/2 E= 1/3 BAHOR MR &
200000 3.15 1.31 2.87 % 7| Datae Fujiti7|0IA MS3 DataLict.
300000 223 | 128 | 296
500000 419 | 1.09 | 403
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+ Aluminium Conductor [x104Q/m]
Ampere Rating 50Hz B0Hz
Y R X z R X z
600 1.257 0.323 1.297 1.385 0.387 1.438
800 0.848 0.235 0.879 0.851 0.282 0.896
1000 0.641 0.185 0.667 0.645 0.222 0.682
1200 0.518 0.152 0.540 0.523 0.183 0.554
1350 0.436 0.129 0.454 0.443 0.155 0.469
1500 0.378 0.113 0.394 0.386 0.135 0.409
1600 0.360 0.107 0.375 0.367 0.128 0.389
2000 0.286 0.084 0.298 0.293 0.101 0.310
2500 0.218 0.065 0.228 0.221 0.078 0.235
3000 0.180 0.054 0.188 0.184 0.064 0.195
3500 0.143 0.042 0.149 0.146 0.051 0.155
4000 0.126 0.038 0.131 0.129 0.045 0.136
4500 0.120 0.036 0.125 0.122 0.043 0.130
5000 0.095 0.028 0.099 0.098 0.034 0.103
+ Copper Conductor [X104Q/m]
Ampere Rating 50Hz 60Hz
A R X z R X z
600 0.974 0.380 1.045 0.977 0.456 1.078
800 0.784 0.323 0.848 0.789 0.387 0.879
1000 0.530 0.235 0.580 0.536 0.282 0.606
1200 0.405 0.185 0.445 0.412 0.222 0.468
1350 0.331 0.152 0.364 0.338 0.183 0.384
1500 0.331 0.152 0.364 0.338 0.183 0.384
1600 0.282 0.129 0.311 0.289 0.155 0.328
2000 0.235 0.107 0.259 0.241 0.128 0.273
2500 0.166 0.076 0.182 0.169 0.091 0.192
3000 0.141 0.065 0.155 0.144 0.078 0.164
3500 0.122 0.056 0.135 0.127 0.068 0.143
4000 0.110 0.051 0.121 0.113 0.061 0.126
4500 0.094 0.043 0.104 0.096 0.052 0.109
5000 0.082 0.038 0.091 0.084 0.045 0.096
5500 0.078 0.035 0.086 0.080 0.043 0.091
6500 0.068 0.028 0.074 0.071 0.031 0.077
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